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The figures 1
for the questions

e correct answer : 1x8=8

(a) The probability of Type 1 error is
(i) degree of freedom
(ii) standard error
(iii) level of significance

(iv) Non€ of the above

1. Choose th
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(2)

(b) :;he term ‘Regression’ was introduced
y

(i) Ragnar Frisch
(@) Sir Francig Galton
(i) Karl Pearson
() Both () ang (i)
() None of the abovye
(c) E (uuy) = 2
() o2

(ii) take any valye betw,
aae een 10‘-100
(i) only take value g ang 3 |

(iv) only take positive valueg
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(e)

(0

(9)
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(3)

Multicollinearity is essentially a
(i) sample phenomenon

(ii) population phenomenon
(iii) Either (i) or (it)

(iv) Both (i) and (ij)

(v) None of the above

In case of multicollinearity problem

(i) R? is high but few t-test ratios are
significant

(i) R? is low but t-test ratios are
significant

(iii) R? is high with high t-test ratio
(iv) R? is low with low t-test ratio

(v) None of the above

The coefficient of determination value
lies between

(i) -1 and +1
(i) -1 and O
(iii) 0 and +1

(iv) None of the above
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( 4)

(h) ANOVA model consists of

i - .

(1) Quantitatiye €xplanatory variables
(ii itat:

) qQualitatiye explanatory variables

(i) b :
) both quantitative ang qualitative

eXplanatol-y Variables

(i) None of the aboye

R-bar SQuare (2

)

(¢) Perfec
t Mmulticoy;
line

multicolline
(d)

Errors in Variape

The Stochastjc error ¢

3. (a) What do You mean

EYITR by
Distinguish between e:lononaetrics?
a

€conomics and €cono

the nature and Scope of ecop,
O
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( C'Ontin

ari :
arity tyv/s imperfect

e 3

Metricg g::)t]lca]

met_ﬁcs.
2+4*6=

(b)

(b)

(@)
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(5)

Or

What is null and positive hypothesis?
What are the steps involved in
hypothesis testing? Discuss with the
help of an example. 4+8=12

«Under the assumptions of the
classical linear regression model, the
OLS is BLUE.” Prove the statement.
What is the difference between the
stochastic error term and the residual
u;? 7+4=11

Or

What is Gauss-Markov theorem?
Discuss the main assumptions of the
OLS. 3+8=11

Analyse the main consequences of
heteroscedasticity. Discuss the
remedial measures to remove the
problem of heteroscedasticity. 5+6=11
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(6 ) (7))

Or Qo

(b) D : What do you me by errors in
efine different methods to detect the v) = o i

Problem of e i variables? Discuss the various tests to
eteroscedasuclty‘ 8 | detect the problem of specification
! error. Write two main consequences of
6. (a | omitting relevant variables. 2+5+4=11
3 Zﬂ?;at go you mean by |
g agiaton PRl |
Durhbin Xplain the ' ey

-Watsc

Problem o;SZnt test to detect the |
u . ;

few limitation g Ocorrelation. Mention

o of the Durbin-Watson ;
3+6+2=11 1
|
Or |
|
| |
(b) l;w;cuss the Main  effect |
utocg L |
T Irelation Problem. How 3 |
e/solve the B, E

?rllltocorrelamon'—’ Su i 3

eas >
ures of the problegnf j Sogn 66 5
+ —

7. (a)
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